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* Approximate all your answers to 2 decimal places. i.e (1.3333=1.33, 1.666=1.67, 1.035=1.04). 

* Whenever there is a space specified for an answer, write your answer in it. 

* Show all your work. 

* Borrowing calculators is not allowed. 

* Cell phones must be off. 
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i i. Complete the summary 
.1... ii. What is the name of the summary?CvC>'S-S -\c..~\~c,V'I 

~ (a) What is the level of measurement for the variable Hours of study 

1 (i)Nominal (ii)Ordinal @Ratio (iv)Interval 

(b) The appropriate graphical summary for the relationship between Hours of study and Cumulative Grade i Ave is ,,..- ;;::'vg .... 

(i)Covariance @Scatter diagram (iii)Correlation coefficient P< (iv)Cross tabulationez 
(c) If X= Hours of study, Y= Cumulative Grade Average, Sx = 7, Sy= 5, L (xi - x)(Yi - y) = 6368, then 

i. Find and interpret the Covariance 'I\ -:. ~l'>O \ ~!°\wit 
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, 1 ../ ii. Find and interpret the Correlation coefficient . ~ .\-o \ ~ ~ '°'~I.Ac; 

r -- S:::e.'::> - ~)-. .... 3~ Cl ~ \\.\ .:=::!;> ,~ ~'\\t\P ~ ~· ~..< 1 
S'.;JI'. s~ - tr:ftfsJ -~ ~ . '?b~~ .-t~ 'Av- i~ ,e\~ioV7s-lii1 \.~ r: \r~<5 o ~1>- -J C"i.....-.....\~~)I_~ \:.{o..Je. .\ i) '1 

(d) To study the relationship between Gender and Cumulative Grade Average, the following summary~~ ~~~ n 
Gender\Cum.Gr.Ave 60-69.9 70-79.9 80-89.9 j 90-99.9 j Total ~ 

Male 6 12 24 'E:, I 60 ~t.\ 
Female 21 35 49 ~~ \C.lO 

14 72 Female 200 

1. A statistical study on a samp~s students was selected and produced the following data set 
.Students Gender Cumula 1 e I Hours of study /week 

1 Female 73 13 
2 Female 67 11 
3 Male 69 9 
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(e) what is the distribution shape for the data? \(~"'-+ s~weJ .:=:;\ s\<wt!~:jJ \s ~!)fti'vc:.. 
(f) The craftsman shop wants to produce new gold earrings styles. Based on your analysis, should it produce 

more of low weight styles or high weights styles? r _...., \ r l-( h I() wei~~ -l- 
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• 2. A jewelry craftsman shop conducted a study on the ~g11~of gold earring~ The sample data (in grams) 
w1re as fo~ow 3 '-< 5" (. rt g '3 \ o 11 V 
~~ ~ ~ 20.8 ,,R-:r ~ 1'.l& ~ 1-0' 1:t! 1-8':1 Find the following. 

\6."'\"',,..\(..,4 \(,t.( \r.f,\ rt.'!> \'l:Y \t;f..rf. \~.\ \16..\ 19 'd.o.i 
(a) Find the mean and standard deviation for the weights of gold earrings sold r j:,,,Si;_ :;;. 1'3£./.i' ;:: \~.~ 
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4. A car dealer manager was very optimistic about this week's sales. He wished to sell more than 12 cars this week. 
For the first 6 days of the week he sold an average of 1.5 cars per day. How many cars should he sell on the last 
day of the week so that his wish becomes true. 
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(b) Suppose that the daily wage distribution is normal, then what is the percentage of worker whose daily 
wage is between $24.6 and $34.6? ~ (\ (1 n .1. 
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( c) Assuming n_ormality again. In a random group of 300 palestinian workers, how many of them have a daily 

wage of no more than $14.6? ~}b .f ke Pvt(.b) !J.le Cal) c:;.-c.-..e -l~ ~~tfo·~h"\\c\f-l [l ~..£% ,/) /),e ~ .,,,,,. fe,,s «-: fl(. b - 
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- 3. According to the PCBS, the average daily wage of workers in the palestinians territories is $24.6,::-:::S:- 

( a) If the standard deviation of the daily wage is $5, then what is the percentage of workers whose daily wage 
is between $15.6 and $33.6? -:f-.--;;. :;l,LI , b S--=- 5 
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